
 

Non-Standard Partitioning 

5-Digit Numbers 
 
Partition 31,462 into different forms. 

 

Partition the 31,462 in standard form: 

 

__________    + __________    + __________    + __________    + __________    = 
 

____________ 

Show how else the number can be partitioned: 
 

____________      + ____________      + ____________      + ____________      = 
 

________________ 

 

____________      + ____________      + ____________      = 
 

_______________ 

 
 

____________      + ____________      + ____________      = 
 

_______________ 

 

 _______________      + _______________      = 
 

_______________ 
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31,462 


